

~~20/11/20~~
06/05/2020

~~(Continuity)~~
~~Final~~

15

Date
Page

Thm: A mapping $f: X \rightarrow Y$ is continuous iff
 $\overline{f^{-1}(B)} \subset f^{-1}(\overline{B})$ for any set $B \subset Y$

Proof: - Let (X, τ) and (Y, σ) be any two topological spaces. Let $f: X \rightarrow Y$ be a continuous map. Let $B \subset Y$ be arbitrary.

To prove that $\overline{f^{-1}(B)} \subset f^{-1}(\overline{B})$

Since $B \subset \overline{B}$, we have

$$\overline{f^{-1}(B)} \subset \overline{f^{-1}(\overline{B})} \quad (1)$$

\overline{B} is closed in Y , f is continuous $\Rightarrow f^{-1}(\overline{B})$ is closed in X .

$$\Rightarrow \overline{f^{-1}(\overline{B})} = f^{-1}(\overline{B}) \quad (2) \quad \left(\because A = \overline{A} \text{ if } A \text{ is closed} \right)$$

from (1) & (2)

$$\overline{f^{-1}(B)} \subset f^{-1}(\overline{B}) \quad \text{Prove} \quad (3)$$

Now we shall prove that f is continuous map. Let $C \subset Y$ be a closed set, then $C = \overline{C}$ (4)

By hypothesis

$$f^{-1}(C) \subset f^{-1}(\overline{C}) \quad (5)$$

using (4) we get $\overline{f^{-1}(C)} \subset f^{-1}(C)$

But $f^{-1}(C) \subset \overline{f^{-1}(C)}$ for any set C (6)

Combining (5) & (6) we get

$$\overline{f^{-1}(C)} = f^{-1}(C)$$

which shows that $f^{-1}(C)$ is closed in X any $C \subset Y$ is closed $\Rightarrow f^{-1}(C)$ is closed in X

f is a continuous map.

11.7 Theorem Let a function $f: (X, \tau) \rightarrow (Y, \sigma)$ is continuous iff

$$[f^{-1}(B)]^\circ \supset f^{-1}(B^\circ), \quad B \subset Y$$

$$\text{or } f^{-1}(B^\circ) \subset [f^{-1}(B)]^\circ$$

Proof. Let $f: (X, \tau) \rightarrow (Y, \sigma)$ be a topological space mapping. Let $B \subset Y$ be arbitrary.

(i) Suppose f is continuous.

To prove that $[f^{-1}(B)]^\circ \supset f^{-1}(B^\circ)$

$B \subset Y \Rightarrow B^\circ$ is open in Y .

$\Rightarrow f^{-1}(B^\circ)$ is open in X (f is continuous)

$\Rightarrow [f^{-1}(B)]^\circ = f^{-1}(B^\circ)$ — (1)

$B^\circ \subset B \Rightarrow f^{-1}(B^\circ) \subset f^{-1}(B)$

$\Rightarrow [f^{-1}(B)]^\circ \supset f^{-1}(B^\circ)$

$\Rightarrow [f^{-1}(B)]^\circ \supset [f^{-1}(B^\circ)]^\circ = f^{-1}(B^\circ)$

$\Rightarrow [f^{-1}(B)]^\circ \supset f^{-1}(B^\circ)$ — (2)

(ii) Suppose $[f^{-1}(B)]^\circ \supset f^{-1}(B^\circ)$

To prove that f is continuous.

Let G be an open subset of Y then $G = G^\circ$

If we show that $f^{-1}(G)$ is open in X ,

$[f^{-1}(G)]^\circ \supset f^{-1}(G^\circ)$ (by (1))

$\Rightarrow f^{-1}(G)$

$\therefore [f^{-1}(G)]^\circ \supset f^{-1}(G)$

But

$[f^{-1}(G)]^\circ \subset f^{-1}(G)$

Combining last two $[f^{-1}(G)]^\circ = f^{-1}(G)$ is always true (1)

$\Rightarrow f^{-1}(G)$ is open in X